ME 7=

@ 1H[10]

Hand calculation7 ™

Buttap 3

Code 1S 8% 33
CodeOf 4 g2 22 17

@ 2H[30]

=
Amin' Amax I:II—I-__ll_ le- 15x|:-||
2% 32 g2 2L 31

2 =0f dc, 7k, 18k HEA| Q1S 4L 2 -1H-
@ 3HE[40]
A Anax 2 1278, peaking 674
Total capacitance 108 X} &
& 2L glS 8% 38
d2i= 0 dc, 7k, 18k, peaking HEA| QIS 42 2 -1H
© Report[20]
18wy, n A4 27F
2H tow-thomas241 2, O| 2 XA filter2} matching(Q, wn) 3, optimization g/ I}t 3H
3 switched cap 2 £ filter matching 274
220 H|w5H0] QAL 7| = O/ 37, 28 0to| QX E F0|= Y (g, wnZHE with =AM 4 H) 57T
@ Extra points
English[+3]
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